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1. In a week, temperature of a certain place is

measured during winter are as follows


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
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https://dl.doubtnut.com/l/_DjGlWx6iYfA3

26°C, 24°C, 28°C, 31°C, 30°C, 26°C, 24°C

. Find the mean temperature of the week.

° Watch Video Solution

2. The mean weight of 4 members of a family is
60 kg Three of them have the weight 56 kg, 68
kg and 72 kg respectively. Find the weight of

fourth member.

o Watch Video Solution



https://dl.doubtnut.com/l/_DjGlWx6iYfA3
https://dl.doubtnut.com/l/_E0cYYemBeNfp

3. In a class test in mathematics, 10 students
scored 75 marks, 12 students scored 60 marks,
8 students scored 40 marks and 3 students

scored 30 marks. Find the mean of their score.

o Watch Video Solution

4.1n a research laboratory scientists treated 6
mice with lung cancer using natural medicine .
Ten days later, they measured the volume of

the tumor in each mouse and given the results


https://dl.doubtnut.com/l/_xQU9K01j5nT7
https://dl.doubtnut.com/l/_9tLfj1lGUhU5

in the table
mmnﬁ) 145 | 148 | 142 | 141 | 1

Find the mean.

o Watch Video Solution

5. If the mean of the following data is 20.2 ,

then find the value of p.

10 | 15 20
SR 6 8 p 3 10 r;i%‘-

o Watch Video Solution



https://dl.doubtnut.com/l/_9tLfj1lGUhU5
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6. In the class weight of students is measured

for the class records . Calculate mean weight

of the class students using direct method.

‘Weight in kg 15-25 | 25-35 | 35-45 | 45-55 | 5568

0. of students 4 | un | 19l

B

sl

o Watch Video Solution

7. Calculate the mean of the following

distribution using Assumed Mean Method.

30-40 | 4

ass Interval | 0-10 | 10-20 | 20-30
lency R 15

28

o Watch Video Solution



https://dl.doubtnut.com/l/_1YboiobuCO6h
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8. Find the Arithmetic Mean of the following

data using Step Deviation Method.

=] 1519 | 2024 | 2529 | 30-34
i 4 20 38

o Watch Video Solution

1. Find the median of the given values : 47, 53,

62, 71, 83, 21, 43, 41.



https://dl.doubtnut.com/l/_xHYAdMpmY2QX
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o Watch Video Solution

2. Find the Median of the given data : 36, 44,

86, 31, 44, 86, 35, 60, 51.

o Watch Video Solution

3. The median of observation 11, 12, 14, 18, x + 2,
X + 4, 30, 32, 35, 41 arranged in ascending

order is 24. Find the values of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_NLc9TiBhrXHd
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4. A researcher studying the behaviour of mics
has recorded the time ( in seconds ) taken by
each mouse to locate its food by considering
13 different mics as 31, 33, 63, 33, 28, 29, 33, 27,
34, 35, 28, 32. Find the median time that mics

spent in searching its food.

o Watch Video Solution

5. The following are the marks scored by the

students in the Summative Assessment exam


https://dl.doubtnut.com/l/_LNVdCD2UaJD3
https://dl.doubtnut.com/l/_YvCUPLIW7T8f
https://dl.doubtnut.com/l/_KmjxPo38FrTT
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Calculate the median.

° Watch Video Solution

6. The mean of five positive integers is twice
their median. If four of the integers are 3, 4, 6,

9 and median is 6, then find the fifth integer.

° Watch Video Solution



https://dl.doubtnut.com/l/_KmjxPo38FrTT
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1. The monthly salary of 10 employees in a

factory are given below :

35000, ¥7000, ¥5000, ¥7000, ¥8000, ¥7000,
3¥7000,3%8000,3%7000,35000

Find the mean, median and mode.

o Watch Video Solution

2.Find the mode of the given data : 3.1, 3.2, 3.3,

21,1.3,3.3,3.1

° Watch Video Solution



https://dl.doubtnut.com/l/_db4NWh1PWgbp
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3. For the data 11, 15, 17, x + 1, 19, x-2, 3 if the
mean is 14, find the value of x, Also find the

mode of the data.

° Watch Video Solution

4. The demand of track suit of different size as
obtained by a survey is given below :

&2

Which size is demanded more ?

o Watch Video Solution



https://dl.doubtnut.com/l/_nx4JScL4LQvh
https://dl.doubtnut.com/l/_Cu48SOmbTtOW
https://dl.doubtnut.com/l/_HrHEr8LllbfL

5. Find the mode for the following data.

&2

° Watch Video Solution

6. Find the mode of the following distribution :

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_HrHEr8LllbfL
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https://dl.doubtnut.com/l/_lH5P3I3mHvkf

1. Let m be the mid point and b be the upper

limit of a class in a continuous frequency

distribution. The lower limit of the class is

A2m — b

B.2m + b

C.m—>

D.m — 2b

Answer:



https://dl.doubtnut.com/l/_f6tyRx5pCYHl

\ o Watch Video Solution

2. The mean of set of seven numbers is 81. If

one of the numbers is discarded, the mean of

the remaining numbers is 78. The value of the

discarded number is

A. 101

B. 100

C.99

D. 98


https://dl.doubtnut.com/l/_f6tyRx5pCYHl
https://dl.doubtnut.com/l/_tpPTDHfk3qYB

Answer:

o Watch Video Solution

3. A particular observation which occurs

maximum number or times in a given data is

called its

A. Frequency

B.range

C. mode

D. Median


https://dl.doubtnut.com/l/_tpPTDHfk3qYB
https://dl.doubtnut.com/l/_QC8brMNr4CHb

Answer:

o Watch Video Solution

4. For which set of numbers do the mean,

median and mode all have the same values ?

A 2224

B.1,3,3,3,5

C.1,1,2,5,6

D. 1,1,2,1,5


https://dl.doubtnut.com/l/_QC8brMNr4CHb
https://dl.doubtnut.com/l/_OF1Qj0tAb1tC

Answer:

o Watch Video Solution

5. The algebraic sum of the deviations of a set

of n values form their mean is

A.0

B.n—1

D.n+1


https://dl.doubtnut.com/l/_OF1Qj0tAb1tC
https://dl.doubtnut.com/l/_l2XXiSclXzHL

Answer:

o Watch Video Solution

6. The mean of a, b, ¢, d and e is 28. If the mean

of a,c and e is 24, then mean of band d is

A. 24

B.36

C. 26

D. 34


https://dl.doubtnut.com/l/_l2XXiSclXzHL
https://dl.doubtnut.com/l/_2PHYeseG0hkT

Answer:

o Watch Video Solution

7. If the means of five observation x, x + 2, x +

4,x +6,x + 8, is 11 then the mean of first three

observation is

A9

B. 11

C.13

D. 15


https://dl.doubtnut.com/l/_2PHYeseG0hkT
https://dl.doubtnut.com/l/_6xyADTRQyUjg

Answer:

o Watch Video Solution

8. The mean of 5, 9, x, 17, and 21 is 13, then find

the value of x

A.9

B.13

C.17

D. 21


https://dl.doubtnut.com/l/_6xyADTRQyUjg
https://dl.doubtnut.com/l/_bMNWAGR2sQu7

Answer:

o Watch Video Solution

9. The mean of the square of first 11 natural

number is

A. 26

B.46

C.48

D. 52


https://dl.doubtnut.com/l/_bMNWAGR2sQu7
https://dl.doubtnut.com/l/_w8U1TaEVczrv

Answer:

o Watch Video Solution

10. The mean of a set of numbers is X. If each

number is multiplied by z, the mean is

C. 'zbarX


https://dl.doubtnut.com/l/_w8U1TaEVczrv
https://dl.doubtnut.com/l/_b37YlYwm6tZw

Answer:

o Watch Video Solution

Additional Questions And Answers Exercise 8 1

1. The following data gives the number of
residents in an area based on their age. Find

the average age of the residents.

[

o Watch Video Solution



https://dl.doubtnut.com/l/_b37YlYwm6tZw
https://dl.doubtnut.com/l/_cM1jeSFiEG7W

2. Find the mean for the following distribution

using step Deviation Method.

&2

o Watch Video Solution

Additional Questions And Answers Exercise 8 2

1. For the following up grouped data 8, 15, 14,

19, 11, 16, 10, 8, 17, 20. Find the median.

o Watch Video Solution



https://dl.doubtnut.com/l/_ovOwjMGp8rTc
https://dl.doubtnut.com/l/_nuPP7dTpQy2p

2. The following table gives the weekly
expenditure of 200 families. Find the median

of the weekly expenditure.

&2

° Watch Video Solution

3. The median of the following data is 24. Find

the value of x.

&2

l ° Watch Video Solution


https://dl.doubtnut.com/l/_nuPP7dTpQy2p
https://dl.doubtnut.com/l/_Tz0UPwDid6TW
https://dl.doubtnut.com/l/_fo5jsmoDmHuu

4. The following are the scores obtained by 11
players in a cricket match
7,21,45,12,56,35,25,0,58,66,29. Find the median

score.

o Watch Video Solution

Additional Questions And Answers Exercise 8 3



https://dl.doubtnut.com/l/_fo5jsmoDmHuu
https://dl.doubtnut.com/l/_eri3Vc4aqBDK

1. Find the mode of the given data : 65, 65, 71,

71,72,75,82,72,72.

o Watch Video Solution

2. Find the mode for the following data.

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_ANHjBf3UEZF1
https://dl.doubtnut.com/l/_GrJ334uChkhb

3.In a distribution, the mean the mode are 46

and 10 respectively. Calculate the median.

o Watch Video Solution

Additional Questions And Answers Exercise 8 4

1. The mean of first 10 natural numbers.

A. 25

B. 55


https://dl.doubtnut.com/l/_KHJjKRmWPHRJ
https://dl.doubtnut.com/l/_ed4afgRp4FmY

C.5.5

D. 2.5

Answer:

° Watch Video Solution

Additional Questions And Answers Exercise 8 5

1. The mean of a distribution is 23, the median
is 24 and the mode is 25.5. It is most likely that

this distribution is :


https://dl.doubtnut.com/l/_ed4afgRp4FmY
https://dl.doubtnut.com/l/_Q2QWmXU5kQxa

A. Positively skewed

B. Symmetrical

C. Asymptotic

D. Negatively skewed

Answer:

° Watch Video Solution

Additional Questions And Answers Exercise 8 6



https://dl.doubtnut.com/l/_Q2QWmXU5kQxa

1. The middle value of an ordered array of

numbers is

A. Mode

B. Mean

C. Median

D. Mid point

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FXlkVlh21xv5

Additional Questions And Answers Exercise 8 7

1. The weights of students in a school is a:

A. Discrete variable

B. Continuous variable

C. Qualitative variable

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8BLZpxY2BrLe

Additional Questions And Answers Exercise 8 8

1. The first hand and unorganized form date is

called

A. Secondary data

B. Organised data

C. Primary data

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_AvKOk0AOggjO

1. If the means of five observation x, x + 2, x + 4,
X + 6, x + 8,is 11 then the mean of first three
observation is

A.9

B. 11

C.13

D. 15


https://dl.doubtnut.com/l/_AvKOk0AOggjO
https://dl.doubtnut.com/l/_cCY5z5CDVyMe

Answer: A

o Watch Video Solution

2. A particular observation which occurs

maximum number or times in a given data is

called its

A. Frequency

B.range

C. mode

D. Median


https://dl.doubtnut.com/l/_cCY5z5CDVyMe
https://dl.doubtnut.com/l/_7zEP5XAfVKin

Answer: C

o Watch Video Solution

3. The mean of the square of first 11 natural

number is

A. 26

B. 46

C. 48

D. 52


https://dl.doubtnut.com/l/_7zEP5XAfVKin
https://dl.doubtnut.com/l/_w12TLaw1irX9

Answer: B

o Watch Video Solution

4. The mean of 5,9, x, 17, and 21 is 13, then find

the value of x

A.9

B.13

C.17

D. 21


https://dl.doubtnut.com/l/_w12TLaw1irX9
https://dl.doubtnut.com/l/_DMMNKx6B5crQ

Answer: B

o Watch Video Solution

5. The mean of a set of numbers is X, If each

number is multiplied by z, the mean is


https://dl.doubtnut.com/l/_DMMNKx6B5crQ
https://dl.doubtnut.com/l/_D0SPEKU0pOtb

Answer: C

o Watch Video Solution

1. In a week, temperature of a certain place is

measured during winter are as follows
26°C,24°C,28°C,31°C,26°C,24°C. Find

the mean temperature of the week.

o Watch Video Solution



https://dl.doubtnut.com/l/_D0SPEKU0pOtb
https://dl.doubtnut.com/l/_aDs2flhPRO75

2. If the mean of the following data is 20.2 ,

then find the value of p.

'—————|i E . 10 | 15 | 20 | 355NN

of students | 6 8 p 10 6 4

o Watch Video Solution

3. In a research laboratory scientists treated 6
mice with lung cancer using natural medicine .
Ten days later, they measured the volume of
the tumor in each mouse and given the results

in the table


https://dl.doubtnut.com/l/_9dDbeqfZbYJy
https://dl.doubtnut.com/l/_6gZpWaDHN7Nu

se marking 12'3\4\5f‘
jor Volume mm) | 145 | 148 | 142 | 141 | 139

Find the mean.

o Watch Video Solution

4.Find the mode of the given data: 3.1, 3.2, 3.3,

21,1.3,3.3,3.1

o Watch Video Solution

5. The demand of track suit of different size as

obtained by a survey is given below :


https://dl.doubtnut.com/l/_6gZpWaDHN7Nu
https://dl.doubtnut.com/l/_PeoADDjYIlFU
https://dl.doubtnut.com/l/_t1dJTiZJRI0W

&2

Which size is demanded more ?

° Watch Video Solution

6. The mean weight of 4 members of a family is
60 kg Three of them have the weight 56 kg, 68
kg and 72 kg respectively. Find the weight of

fourth member.

o Watch Video Solution



https://dl.doubtnut.com/l/_t1dJTiZJRI0W
https://dl.doubtnut.com/l/_2WEIP8wzCiGB

1. Calculate the mean

distribution using Assumed

of the following

Mean Method.

30-40 | 4

Interval | 0-10 | 1020 | 20-30
s 7 15

2% 4

o Watch Video Solution

2. Find the mode of the following distribution :

&2

o Watch Video Solution
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https://dl.doubtnut.com/l/_8ZRXZAaKN1Cz




